
DeerTV Company

COPYRIGHT © www.deertv.com | DeerTV Company. All rights reserved

DEERTV
Outdoor TV Cabinet . Lite

Installation Guide

Address: Liaobu, Dongguan, Guangdong, China, 523018
Website: www.deertv.com Email: info@deertv.com

mailto:info@deertv.com


DeerTV Company

COPYRIGHT © www.deertv.com | DeerTV Company. All rights reserved

Outdoor TV Enclosure. Lite Installation

The DeerTV outdoor TV cabinets support 99%
popular TV sizes. Available for outdoor and
indoor, the outdoor TV cabinets ensure your TV
working for a long time within a safe and optimal
environment.

Most of the outdoor TV cabinets you’ve seen in
the markets are made of wood or plastic, but
DeerTV offers unique metal (aluminum alloy) TV
cabinets. It allows you to enjoy the outdoors
without missing your favorite shows. We
manufacture them from the best materials with a
focus on quality and longevity. They are sure to
match your needs with various shapes and sizes.

We provide free online design services if you are searching for a particular style or size. Our design team
can also advise as your needs, including the best products to satisfy any individual requirements.

Prepare Tools.
 Phillips screwdriver
 Hexagon screwdriver
 Electric Drill
 Marker (pencil)
 Silicone sealant (Options)

Parts List.
Name Description Quantity Picture

M6*50 and M6*25 Screws For TV VESA 5 / type

Thick pad washers,10/15/20mm For TV VESA 5 / type

M4*20 For rear cabinet 6

M4 thumb screws For rear cabinet 2

M4 flange nuts For front & Rear doors 22

M6 x 50 screws For Enclosure VESA holes 4

M4 Socket wrench For M4 nuts 1

Handle For front door 2



DeerTV Company

COPYRIGHT © www.deertv.com | DeerTV Company. All rights reserved

Install Front Door
1. Check all accessories.

2. Place the 2pcs front door parts together and connect them together with nuts. (Components: 2 pcs front door parts, M4
nuts)

3. Assemble the 2pcs handles. (Components: 2pcs handles, screws)



DeerTV Company

COPYRIGHT © www.deertv.com | DeerTV Company. All rights reserved

Install Rear Cabinet
1. Assemble the rear door. (Components: 2pcs rear door parts, M4 nuts)

2. Assemble the rear frame. (Components: 4pcs front frame parts, M4 nuts).
Ensure all screws holes in the same direction and fix it by M4 nuts.

3. Assemble the rear frame and rear door together. (Components: M4 Screws).



DeerTV Company

COPYRIGHT © www.deertv.com | DeerTV Company. All rights reserved

Install the optional hook for front door. (Unnecessary, except you want to hook the front-door to the rear enclosure)

Install the rear cabinet to the wall.
1. Check the installation position, adjust the vertical distance and level. (recommend to use a spirit level if available)
2. Mark the 4 screw holes with a pencil or marker.
3. Drill holes with an electric drill and install the rear cabinet to the wall with M6 screws. (Components: 4pcs M6 screws)

Install TV to cabinet
1. Calculate the middle point of the TV height and mark it. (For example, our TV is 55cm in height, so its middle position

is 27.5cm). Install the Mount arm on the TV, ensure the arm center point is near the TV middle position.

2. If your TV thickness is less than 70mm, please add the thick pad washers and ensure the total thickness is around 80 ~
90 mm. Please ensure the mount arm is the correct direction (as shown on the picture), then lock the bracket with
appropriate length screws. (Components: 2pcs mount arm, M6 screws, Washer)



DeerTV Company

COPYRIGHT © www.deertv.com | DeerTV Company. All rights reserved

3. Pass all the wires through the waterproof holes at the bottom of the cabinet.

4. Hang the TV to the rear cabinet. (Please note that if your TV is wider, please change your gestures) Adjust the TV
position horizontally to center the TV. Install the front door to the rear cabinet.

5. Hook the front door to the rear cabinet, install 2pcs thumbscrews, and lock it, finished. (Components: 2pcs thumbscrews)



DeerTV Company

COPYRIGHT © www.deertv.com | DeerTV Company. All rights reserved

Thank you very much for choosing DeerTV products.
Best wishes to you and your family.



DeerTV Company

COPYRIGHT © www.deertv.com | DeerTV Company. All rights reserved

DEERTV
Outdoor TV Cabinet

Installation Guide

Address: Liaobu, Dongguan, Guangdong, China, 523018
Website: www.deertv.com Email: info@deertv.com


